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Q4. Which of the Fa(mm%g & eqalalent te (YK CUO) 7

(S (ke N CCBbYACERD) -

(b_z__%(c (Ahee) \/ C(Bob)V C(Be)d)
(&) {C(Alice) => C(BobYy=> CFye))

() (C (Aree) © CCBoIS CLEUE)).

(& None of He above ] )

R2_Lohich of the_follnothg 75 eguavnlent 2o (FX KD 7

(@ ((ClAire) N CBb)) N CEwR))
(b ((ClAe) V C(Bob)) V C(ER))

(©)  ((C(Alced = C(Bob))—> C(Bd).

() _((C(Ave) © C (Bob))© C(Eue))

(&) None _of Hhe above.
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\/ 1s & by AND :

Y Pixd) & eaidumlerd 1o P A PAIN <~ A Plddn)

F 45 o by OR -

(3P0 75 eqgdtalent 1o Pl V Pld=) V- \/ Pleln)

Negattng o quantfred formulp :

GOk P = (IX (A PO))

(13X Pe)) = (¥ (1P0x)))

7 (Vx (2Y P, YD) = (IXYN- (ZPK YY)

(1 (3xYy P, YN) = (YK(3Y (7 P,y N)))




